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Paper 1
PEERIECN |

Time Allowed : 60 Minutes]

[Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT @ A GLUehd T (50) SgeS Y3

Hd Yy e

o~ N N =

fEoiel 19 U YeATel &I (2) U7 3R

Directions :

Answer Question Nos. 1 to 5
based on either the English
passage or the Marathi passage :

The role of higher education is
unquestionable in building a
modern economy and an equitable
society and the scope of higher
education in India has been steadily
growing. According to the Twelfth
Five Year Plan (Planning
Commission 2017), the allocation of
public spending on universities and
other higher education was ¥ 19,800
crores. The New India NITI Aayog
Vision (2031-32) has mentioned a
fully literate population as one of its
benchmarks. Since the last decade,
the higher education sector has
been occupying a dominant position
in the economic planning process.
The government policy in this
context aims to attain expansion,
excellence and equity; taking higher
education initiatives which can
enable India to match up to global
standards.

gt ¢
YT wWHI® 1 A 5 ¥ qe faeresn
IATHTE ML ATRd,  SASHATA
feRar W& Sar=Teiel Ug-=n ST
3 1

AHE S{eMTdel TehTeh[90Te o3 Tel
At g feoiedn gaiyd e o1
o g Snfor Wi weer
geeId Id STHAH Tl S ] THEA
Sl SR, W HIE QoETge @
fremieht St wqfea snfor gefed = 3
FrEarl el 79 T wE i
FUIATE Bl HHEISYeld Tk Hewr=l
g9 SR, IS HHel S{iad TH 37D
M g aeelel 378, /e Sted
fordiel g8, weeda oMol eTgfam
FHA, T IS AE A FRlha
TR Wigsiche Wd & (regression)
Iehd TRl R0 ®US AEEE S0
S ghgeean Iog TRt ST, AT e
STUfE 3Te. W B Al e uT
IO TS I S AU

[P.T.O.



While higher education equips
people with relevant skill sets in the
open labour market, making them
upwardly mobile against socio-
economic parameters, the same is
not reflected in the academic labour
market. Today, a significant
proportion of highly educated
professionals are stuck in a volatile
academic ecosystem. They are
recruited on ad hoc basis and their
is no formal law to govern the terms
and conditions of their contractual
engagement. The Contract Labour
(Regulation and Abolition) Act, 1970
primarily covers blue-collar job
incumbents, keeping their white-
collar counterparts outside its ambit.
The growing number of universities
(58%) cannot alone fulfill the criteria
of expansion, with negative growth
in absolute increase in employment.
The growth in enrolment rate of
students is expected to reach 25.2%
by 2017-18 from 17.9% in 2011-12
(Planning Commission 2017). The
question is if the targeted growth in
enrolment rate is aligned with the
number of quality teachers in higher

education.
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SR He Fere e o
3T AV IR IR Tolell 3. el
fasrd=t A sTewaeshal TR, ST
Al heled Yo, e S0 SHHEEH
T HAYd R TRETE Ui e
ITeAd AT, T ATAaRed a8 3R
TR A1 AR A fewar. W
A A TREYST Il s T
TR &1 AME gRihe TR S,
71 TR fowg It fuifa o
S ATdl. 81 U @ oA

fShTEh A= Tcish 2UTeR Sdeiell 311

=T 99 {iaet 99%91 (human

problems) gZd @M. RO A=Al

‘HUE’ WU STl TS AT

MBIl STHANd. AT HIH  FRU[H

AT Hd HIE 9 (intensive
passions) 3TV TRST a1 A=A IR

fala fa}

A, X < ST GrEieie R
S ST, < R ST, TR
Sent aftreaqul 18w, fadeen =
TS Aftreagut enfor fafay steam.




What does the author mean when
he says that since the last decade,
the higher education sector has been
occupying a dominant position in
the economic planning process ?

(A) The last decade in political
scenario is more dominant than
the previous ones.

(B) The higher education sector is
dominating the other sectors.

(C) The policy makers with finance

department have Dbeen
dominant during the last

decade.

(D) Comparatively more financial
support is given to higher
education sector during the last
decade.

The policy makers in India are
taking steps to increase expenditure
towards higher education sector
because :

(A) They aim at enabling India to
match upto global standards.

(B) They wish to influence the
global market.

(C) There is a lot of pressure in
international politics.

(D) A lot of funding is available

from global financial

institutions.

1.
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UGS el goerd AT HIoEH

IO TS ITHTSAT 2

(A) foqmfsar

(B) WahTehIqu

(C) hdeArTsal

(D) ~Efifes HgeH

U Al Fehgd I WURihe

fhe Tehd A&, SR ¢

(A) Sifgers &=

(B) WM G

(C) Sifger foemd

(D) dfgufsan

[P.T.O.



The attitude of the author towards

the teachers is .........ccccceeeen.. .
(A) Ironical

(B) Doubtful

(C) Sympathetic

(D) Disrespectful

The author says that today, a
significant proportion of highly
educated professionals is stuck in
a volatile academic ecosystem

because :

(A) Highly educated professionals

are ill-trained.

(B) There is a lack of formal law to
govern the terms and conditions
of contractual engagement of

highly educated professionals.

(C) There is a lack of motivation on
the part of highly educated

professionals.

(D) There is a lack of unity among
the highly educated professionals.
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T He SRS ShIme STevehd]

Aqe ?

(A) HIUXA

(B) fremiidiaan

(C) TEETdadr

(A) gifoRieh smed

(B) Amegs fowgy fraw sreamef

(C) greg= fruifta Seiean eed

(D) frrfgsdm fauifta o smed




Statement I :

There is the growth in the number
of universities.

Statement II :

There is the growth in absolute
increase in employment.

According to the passage, ..............

(A) Statement I is true and
Statement II is false

(B) Statement I is false and
Statement II is true

(C) Both Statements I and II are
true

(D) Both Statements I and II are
false

While defining communication
Miller focuses on .......cccccuveeeeennnnne. .

(A) behavioural change of receiver
(B) message

(C) perception

(D) sender

Serial functions of sender in
communication cycle are as follows :

(A) Collection — formulation —
encoding — projection

(B) Receiving — decoding —
interpretation — projection

(C) Receiving — formulation —
decoding — projection

(D) Encoding — formulation —
decoding — projection
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O] |l A THE 7 YIRS

q&d &R0 &hE ?

(A) HHTSIeh STEer
(B) WM &
(C) Mk TS
(D) “fifer =eren

W?ﬁ' S I IE X GIE] er{ .............
M 3.

(A) UTEHTAT TdTeRaeR
(B) TMR

(C) eFesiIEmer

(D) FeehTeR

HUTUTIRTAER GWhRT=1 hiAT &
YRITYHTl STHAT

(A) TURY — GHATRIU — Hiehfeh 0

— F&

(B) Ugul — fA:Arehfdshienior — 319
— 9Eqw

(C) TR — GAR — BTty
— JEqw

(D) Hishfdshieton — AR —

IBRSIEANEAE T I, e |

[P.T.O.



10.

The components of communication
cycle are sender, message, receiver

and .......ccoeeeennee .
(A) noise

(B) media

(C) barriers
(D) feedback

Which of the following is one of the
communications based on number of

parties involved ?

(A) Personal communication
(B) Formal communication
(C) Horizontal communication
(D) Informal communication

Characteristics of mass media
communication are large number of
audiences, heterogeneous audiences,

scattered audiences and ................. .
(A) illiterate audiences
(B) noise disturbance

(C) absence of direct feedback

(D) powerful media

10.
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TISUTIHTS TSR, TV, UTeHh 9

(A) TiYes
(B) #eH
(C) 3T

(D) FATHIOT

JEICTUhT ShIUT OV ¥ HEWRT SEw=
TR YA 38 d ?

(A) HAfemTa FYu

(B) siv=ia &9l

(C) &fas (Horizontal) s

(D) W= FYoor

E ‘ : %’ agﬁﬂﬁ %ﬂ% (heterogeneous
audiences), foeafa s g

& w Al vy ..
(A) TReR #id

(B) Tiuadm=n sTeua

(C) Y& YcHIwRumeal 3{HTE

(D) 9YEl HIEH




11.

12.

Consider the following set theoretic
expressions X, Y and Z where
U-union, nN-intersection and
superscript ‘C’ is set complement :

X=PnQnNR
Ys(PmQ)u(PmR)u(QmRC)

Z=QuUP)"PUR N PUQ
AP~ P°UR)

Then which of the following is
true ?

(A) No two expressions represent
same set

(B) All three expressions represent
same set

(C) Only X and Z represent same
set

(D) Only Y and Z represent same
set

Consider the following ordered
string of pebbles of three colors,
green (G), blue (B) and red (R) :

X = GGBRBRRBBR
Y = GBRRBRBBRG
Z = RBBRGGBRBR

Which two of them will give us
identical necklaces prepared by just
making the first and the last pebbles
of the string adjacent ?

(A) Xand Y
(B) Y and Z
(C) X and Z
(D) No two of them are identical

11.

12.
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Wreftel e TR X, Y 31ftr Z fo=md
1. S U-FAN, N8 9 YIEhE
‘C & 99 Seifaad
X=PnQnNnR
Y=PnQ u®PANAR) uU@QnRS

Z=QuUPY)APUR NPUQ
~Pn®PCUR)

@il hivd fa9a™ &t 3me ?

(A) IR S TN TRE 99 <9ia1d
BIFI

(B) 99 di9gt UIN Wiy 99
Tyifean.

(C) Hed X 3Tfor Z TR §REn 99
yiferam.

(D) T Y ST Z UIN EWREn 99
Tyiferdrd.

o

qeid feeried oiF T fegan (G), e
(B) 9 A (R) TSI=AT HhiHsh WA

R

X = GGBRBRRBBR
Y = GBRRBRBBRG
Z = RBBRGGBRBR

I IO S AR 9REE Bidid
R ufgel 9 Yo @ ISR 3T
w ?

(A) X oY
(B) Y 3mfur Z
(C) X oAt Z
(D) RV T HB RS BIUR Tl

[P.T.O.



13.

14.

15.

The average weight of 25 children
seating in a boat is 22 kgs. The
average weight of the 25 children
and padded is 24 kgs. What is the
weight of the padded in kgs ?

(A) 74
B) 71
(C) 75
(D) 100

Dayanand planted sugarcane in
1/3 of his farm, groundnut in 1/4 of
his farm and jowar in the remaining
farm of 25 acres. How much is the

total farm in acres to Dayanand ?
(A) 50
(B) 60
(C) 120
D) 75

What sum is to be invested for
2 years at 14% interest rate

compounded annually to grow to
Rs. 5458.32 ?

(A) 4120
(B) 3300
(C) 4200
(D) 4400

13.

14.

15.
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Teh! A9d GUEd 22 f&¥. gemmEtr 25

ol JIEcl]. AEredrHs Faid SE a9
24 TRY. &, TR A@rSard g fwll.
ey et ?

(A) 74

(B) 71
(C) 75
(D) 100

TS e Y= 1/3 9 54,
1/4 9T BT I Ieredl 25 TR Sar]
e, TR SAMed YT fhdl TR

A ?

(A) 50

(B) 60
(C) 120
(D) 75

fwdl ITHAT qavE 2 IE(HIS
TEE Y. 14 . N A aIfsia
T hed™ %. 5458.32 THesdal ?

(A) 4120
(B) 3300
(C) 4200

(D) 4400

10
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16. While entering into the train Anil | 16. TS SATT FART HIAT T IMH=
was ahead of Shyam, who was ahead qe BT i Sl TRt e smR. Stfe
of Kiran, Anil was behind Shweta. I °HI 3R T iié]@ﬂqﬂ 10T TH
Which of the following shows the TAYT LA TGS HH AR ?
1c:or.rec?t order of entry into the (A) s — T — PO — T
rain 7
(A) Anil — Shyam — Kiran — (B) voa1 — ¥ — A — T

Shweta ' (C) T — s — W — fR
(B) Shweta — Shyam — Anil —

Kiran (D) AT — Toa@ — AW — fwIm
(C) Shweta — Anil — Shyam — | 17 ¢ LONQ 9¥ &9k JMLO 3@ 2d

Kiran 3HA W WM aw@re sTER GDJM
(D) Anil — Shweta — Shyam — TEE O T a9 7

Kiran

17. If LONQ is converted into JMLO (A) EBHK
then by the same principles what (B) ECIL
could be the correct alternative for
the GDJM ? (€) EHIK
(A) EBHK (D) ECHK
(B) ECIL 18. YEiaueh! ol T foerean faumm
(C) EHIK e Tl w2
(D) ECHK

18. Which of the following is a correct faem
description of the statement given Td g g eTRa.
below ?

Statement : AT T A S
All animals die. Yo% T A 3T
Human beings are animals. T ofgerg e [IEEE—
Every human will die.
This statement is : (A) Tcaed
(A) Perception (B) 3@
(B) Inference
(C) Comparison (C) T
(D) Implication (D) AT
11 [P.T.O.



19.

20.

Which of the following diagrams
shows the correct relationship among

the three terms — Women, Sisters,
Mothers ?

(A)

(B)

(&)

O

Which of the following is/are the
valid conclusion/s based on the
statements given below ?
Statement I : All players are
aggressive.

Statement II : Some politicians are
aggressive.

Conclusion 1 : Some politicians are
not aggressive.

Conclusion 2 : Some players are
politicians.

Codes :

(A) 1 only

(B) 2 only

(C) 1 and 2 both

(D) Neither 1 nor 2

(D)

OO E

19.

20.

JUN - 00120/I—B

WA SHIUT STThdt T FeheaTqeet
TR gay guifad — o, afgoh,
Hrar ?

(A)
(B)
(&)

.(0)0
et feoea faummER saia o
frops 3fed smea 2

faam 1 : ©¥d Qeorg Wwie omRd.
faem I : FE TSRl Wi 37,
fers 1 : FE SR W TR
Treersl 2 : FRT Vg TTHRT 3T
Hehd

(A) 1 ™

(B) 2 T

(C) 1 enfor 2 =

(D) 1 enfor 2 =R TR

12
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Directions : o

Question numbers 21 and 22 .
are based on the following YT wHEw 21 Imfur 22 ¥ ke

diagram : 3TI§o_cﬁT:R‘ IMATAA 311%?[ :

The following is a diagram of a 5 % ABC T FoieT T 2011
company ABC showing the quantity

of a certain goods exported in lakh q 2015 A1 HrKiic TH SUfah TR

units and the revenue generated in oramde fafd 9 [RIEIGR Tt ST
crores of rupees for the years 2011 2 e T .
to 2015 :
50
50+ 7,
45+
40 7
40+ 7
1 35 Z /
35 7 Z Z
Z ) 30
30+ é é = é
25+ 7=
2011 % é 2/ =7
151 15 15 — —
10 22 — =
5 — —]
5T E =7 :/
% ZIR=7 =7
001l 201z 2013 2014 2015 Years ()

H Quantity exported (i a&gae)
Revenue generated (F&ga ffHd)

13 [P.T.O.



21.

22.

In which year the revenue

generated per unit exported is

maximum ?
(A) 2012
(B) 2013
(C) 2014
(D) 2015

What is the average (arithmetic
mean) per unit revenue generated
during 2011 to 2015 :

(A) Rs. 166
(B) Rs. 200
(C) Rs. 233
(D) Rs. 300

Directions :

Question numbers 23 and 24
are based on the following

information :

Among 800 students 220 failed in
Marathi, 300 failed in English, 150
failed in Hindi, 125 failed in both
Marathi and English, 70 failed in
both Marathi and Hindi, 60 failed
in both English and Hindi. 30 failed

in all the three languages.

21.

22.
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Shvre guia Fafa gfdesg wege FHfH
HA AR ?

(A) 2012
(B) 2013
(C) 2014

(D) 2015

2011 d 2015 31 FeBwdTel Flder TRE
(TTfoTa Hem) weye ffHdT fRdt o ?

(A) % 166
(B) & 200
(C) % 233

(D) = 300

L A2 S LI

T ShHieh 23 ITMUT 24 Y& HifedieR
M| Ied ¢

800 fommeatient, 220 TS AU 3T,
300 SUSTA 99 3, 150 fe<id =

I, 125 TS 9 TUSH Sieid AT
Fet, 70 S 9 fe=l IR A e,
60 SuS 9 fe<l <=ia I Fel. 30
fomnefl =1 wm@ AT ST

14



23.

24.

25.

How many students failed in exactly

two languages ?
(A) 195
(B) 165
(C) 250
(D) 255

How many failed in only one

language ?
(A) 195
(B) 165
(C) 250
(D) 255

The following is the information about

area of states and population :

State A B C D

Area (in
square km.)

80,000

50,000

10,000

5,000

Population
(in lakh)

16

10

Which is the most thickly populated

state ?
(A) A
(B) B
(C) C
(D) D

23.

24.

25.

JUN - 00120/I—B
el SIF WTSTHE AT foeneAt we
fat 2
(A) 195
(B) 165
(C) 250

(D) 255

Therd Tehl 9T ATOTE=l T fohdt ?
(A) 195
(B) 165
(C) 250

(D) 255

qeia Aifgdt A= &1A%a 9

AhaEdeeddl 3R :

w4 A B C D

AAhos
(3. foe). 7))

80,000

50,000

10,000

5,000

AHEEA
(rEmHEY)

16

10

gald S T AlhE&d STHUR g
HIO ?

A) A
(B) B
(C) C
(D) D

15

[P.T.O.



26.

27.

28.

Which of the following is the correct
full form of TRAI ?

(A) Television Regulatory

Authority of India

(B) Telecom Regulatory Authority

of India

(C) Teleservices Regulatory
Authority of India
(D) Telephone Regulatory

Authority of India

In which year the Information
Technology Act was enacted in

India ?

(A) 2005
(B) 1980
(C) 2000
D) 1990

Who played an important role in
developing the first supercomputer

in India ?

(A) APJ Abdul Kalam
(B) Anil Kakodkar

(C) Raghunath Mashelkar

(D) Vijay Bhatkar

26.

27.

28.
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TRAI o1 JI<T=1 I eneR fown

JEICTUhl ShIOTT 2

(A) 2fafesa Tgaed et siw
sfean

(B) 2faewmm Tgered AU off®
sfean

(C) foufge™ Tgoed AeiiEl ifh
sfean

(D) faw Tgeredt sreifEt 1w
sfean

VAT ATfgd] doI ShTIe] shegl ST
e ?

(A) 2005
(B) 1980
(C) 2000
(D) 1990
HTTel afgedl 9XH HIorhrA1 fashremd

IV HewerE! i1 SSTee! 2

(A) THS 3Tsgd o

(B) 317 hIehIgah

(C) TAY HRIAHT
D) fasa wea

16



29.

30.

Government of Maharashtra has
made compulsory for schools to enter
information of all the students on the

web portal known as :
(A) Pavitra

(B) Saral

(C) Sarathi

(D) Shalartha

Which among the following is part
of the digital initiatives for higher

education in India ?
(A) National School of Digital Arts
(B) National Academic Depository

(C) Central Data of Indian

Universities

(D) Digital Vidya

29.

30.
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TERTSE T{hRA 9d T §d foeneatt
HTfed! elcTdeh! I Hehaeeresia]

Jigal SAfer w g ?
(A) dfe=

(B) W
(C) TR
(D) wmened

o~

SIS

TR S5a TRTeTom=an & o

@R ASd Jeraidehl hemal FHTeT]
Bl ?

(A) -TFa Ea Aw fefSea ey
& feuffsredt

(C) Hega = i sfer P
(D) fefSea femn

o N O

(B) F3Md kel

31. YU hHIUAl HAX BIHRE FhRI
31. One of the following waste is not e e
under hazardous one :
(A) e
(A) Agricultural reside
(B) TEmER
(B) Chemical
, (C) U=
(C) Paint
(D) Electroplating waste ) '
17 [P.T.O.



32.

33.

34.

UN Conference on Environment and

Development in 1992 was held at :
(A) Rio de Janeiro

(B) Stockholm

(C) Paris

(D) Johannesburg

Biomedical waste of human and
animal tissues, organs and infected

body parts are to be disposed using :
(A) Autoclaving

(B) Microwave

(C) Composting

(D) Incineration

Landslides hazards are common in

the hilly regions due to :
(A) Loss of vegetation
(B) Loss of soil

(C) Cutting of hill slopes

(D) All of the above

32. TF 1992 T

33.

34.

JUN - 00120/I—B

qgFd eI OFfaRer 9

foermad=T aReR el gl
(A) e fe s

(B) wfHgm

(C) U™

(D) et

wHEEl 9 grfor aef, ereEd 9 i
YRETE I Sedeehg ha-arl faegdane

LT

=1 HEEAN e
(A) St

(B) HEshIeEes

(C) =ur=lT

(D) AR

ST 9T SXE] Tt § The TeH=T
I HR

(A) g&=n =™

(B) W= =™

(C) SR el HTaul
(D) =ia wd

18
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35. International Solar Alliance was | 35. 3TdW2g R HeWifTd T 9R 31
established to promote the solar ey g Bl
energy. Its headquarters is ool et e o
established at :

(A) T TEd, e
(A) Gwal Pahari, Gurgaon
(B) Bengaluru (B) 1
(C) Dubai (C) TR
(D) Nairobi (D) el

36. To receive the degree Vasu (9%) 36. ‘o' ¥ UIHET YW HITATHIET
learner was expected to learn IR AT eI
minimum ........... years in Gurukul. TRl HLIT HAA AN S
(A) 12 (A) 12
(C) 06 ©) 06
(D) 08

(D) 08

37. The University Education
Commission (1948) recommended 37. 3 e (1948) 19
that there should be minimum 9 WRIGRATETAH e Ta=r Hrena e
.......................... working days 1:“@:' e g qgh s fqed
excluding examination days in 3 Eed 3R HRE Sl IR
universities and colleges.

(A) 180
(A) 180

(B) 200
(B) 200

(C) 220
(C) 220
D) 240 (D) 240
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38.

39.

40.

The main role of UGC in higher

education iS t0 ....ceevueeeunnennnnnn. .

(A) open universities in all over

India
(B) accredit universities
(C) control university administration
(D) provide funds to universities

National Environmental Engi-
neering Research Institute (NEERI)
is established at .................... .

(A) Nagpur
(B) Calcutta
(C) Panjim
(D) Chennai

Supreme Court was directed in
judgement given in 1991, to make
the subject

compulsory in the college curricula.

(A)

women study

(B) environmental study

(C) information technology

(D) value education

38.

39.

40.

JUN - 00120/I—B

Iod TRIequmHed ISl THE e

(A) FYU YRaWe fagamdis g& &0
(B) focamdier JHTOfehior ol
(C) fogamie wemeHRR = Sau

(D) fagardier fod gRaer o)
TSI qAieRuiE ATl Eened

(A) MR

(B) et

(C) worsit

(D) =T

Halea =A™ 1991 wielt feeten

TRITAGATCT STRHRAN TR shetal
3R,

(A) St fergon
(B) TSRO 3%
(C) wfedt Tl
(D) HeArsTerT
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41.

42.

43.

Reflective teaching is a .................. .

(A) Cyclic process of thinking about

learning

(B) Linear process of thinking

about teaching

(C) Cyeclic process of thinking about

teaching

(D) Linear process of thinking

about learning

should

and teach accordingly.

teacher identify

economic condition of students

individual differences among

students

(&)

economic condition of parents

(D)

individual differences among

parents

SWAYAM PRABHA is a group of

channels devoted to

telecasting of high quality

educational programmes.
(A) 32 DTH
(B) 24 DHT
(C) 7 THD
(D) 12 TDH

42.

43.

JUN - 00120/I—B

(A) FFIAEE faaR oIl afed

PIERI

(B) 37eAMUATSNed fo=emR A=l o

PIERI

(C) AT faaR vl Ifed

PIERI

(D) AFIAEEE foaR HIvgET T

Ha e,

(A) faeneaf=h enfefe feordt
(B) faeneaindia =afwmag
(C) dreRr=h offefen feerdt
(D) e SAfRNg

SWAYAM PRABHA % S<d coid
Yerforr wEwT wafud wvamEESn
............................. S W S
(A) 32 DTH

(B) 24 DHT

(C) 7 THD

(D) 12 TDH

21
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44.

45.

46.

47.

A traditional teaching support
system includes ....................... .

(A) White Board
(B) Smart Board
(C) Digital Board
(D) Three-Dimensional Models

A teacher goes through the student’s
notebooks and gives remarks. This
is called as ............. .

(A) Notebook checking
(B) Daily Remarks
(C) Evaluation

(D) Assessment

Socrates has given

method of discovering the truth.
(A) Experimental

(B) Observation

(C) Criticism

(D) Dialogue

Experimental researches are aimed
17 PRI .

(A) establish association between

variables
(B)
(C)
D)

describe variables
study the application of theory

study trend analysis

44.

45.

46.

47.

JUN - 00120/I—B

A=A IRUN FERAYd JUcHed
............................... o T 2.
(A) = 0

(B) @i =g

(C) fesitea &

(D) ffaeta wfaepdt

Toreren formmeat=an g&n quEamE for IR
edrd. Il

(A) FigeEl qurEsit
(B) <HfeT W

(C) HeIHIA

(D) Hedih

(A) TATLTA T LU hLo

(B) <IcI= 90 h)

(C) Togmar=n SYISHMT 31 H0]

(D) 9@ (trend) fawcrsomer A=
YL
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48.

49.

50.

Limitations laid down by the

researcher are called as ............... .
(A) Objectives

(B) Delimitations

(C) Assumptions

(D) Hypothesis

For any frequency distribution, 50th

percentile and

same.

(A) Mean

(B) Median

(C) Quartile Deviation
(D) Standard Deviation

A researcher uses data of an earlier
research paper and publishes a new

research paper, thisis ................... .
(A) ethical

(B) unethical

(C) permissible

(D) proper

48.

49.

50.

JUN - 00120/I—B

HINE®R™ ©ed Sqaedl AAQIAm

(A) 3fegee
(B) uftHaier

(C) TEiash
(D) 9REeq

HIOTATEl IRarar fadeomardt, 504

T
(A) TEEE

(B) W&

(C) =qde fo=em

(D) w1 feree

T HIiEe gaf=a geiedaendd

oo N

Hifgdl dAMO®d e HeeHaE  fafgdr.

(C) 51

(D) I
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ROUGH WORK
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